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- b), Find area and perimeter of a rectangle
WY } whose lengths and breadths are 60 c¢m
I e respectively.
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9=L4 #Find area and perimeter of a square
-1 whose side is 30 cm.

ol b] ﬁ rectangle ABCD has #D = 120° and
*f% ZA = ZB = ZC. What will be the
' z- measure of rest three angles ?
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Candid&ltes are required to give their ansiwers in their
own words as fur as practicable.
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All questions are of equal value.
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Answir any five questions in which Question No. 1 is
compulsory.
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i3 Compare the Inductive and Deductive
methods.

OR

Compare the Analytic and Synthetic methods.
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2. What do you understand by
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method ? Explain with examples.
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Simplify 18- 12+2-14+4-9.
T HL 18- 12+2-14+4-9.
Multiply : 0-2 » 316-8,
T 02 x 316-8.
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Fectorise : m= —10m+24
Wﬁﬂ?ﬁ: m2 —10m+24.
Multiply : (p+6 ) (p-4).
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-l Write in expanded form : (4x+ 3y %

fereafier =0 6 o6 ¢ (42 + 3y)°
5 a)  Find the value of (243)/5.
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b)  Find the value of (13% =57 /2.

WA
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c) Find the square root of 38416.
; T W L : 38416.
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T a) Find the circumference and area of a
circle whose diameter is 28 cm.
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